(i ll
‘ I.ﬂll :\‘\\l -'
-r’;s’";glgfj’%_;;u\lnill 'll'll il ' |\' W :

""” ‘ Y
.__HIIHM\“W &

(& SCAFFCO

Waling System




Waling System
The Formwork System that Adapts to all Heights and Widths

L%
Wi W

-

- LI
B

SN A% ALY

-

wiri

—, ——— . - PO W -'l.'E-_

vmw i WA T Ve TATLE R WA
LTWFNELT N

" B
-1 | § . e W 0 mmEk Ee - —

| = Nl H i B
] L =
;! i Hl & 1

The waling system formwork elements are assembled quickly and easily by
connecting the H20 timber beams to the walers by means of steel clamps. |
Dismantling of elements is done as the erection of the system. The
advantage is that the wall formwork system provides a high adaption and -

easy reassembling when ground plans of the structure change frequently. * !
e, Fo e B0

| T
e
W miow




The waling system is one of the most adaptable formwork systems available. This formwork system combines H20
timber beam with steel walers so perfectly. It adapts all heights and widths, accommodates every pressure and meets
all construction demands. The basis of the waling system is the H20 timber beam. It is produced in production plant
with European standards. The H20 beam is sturdy, easy to handle and at a weight of approx. 5.0 kg/m offers a high
load-bearing capacity at large distances of walers. The steel walers,clamped onto the H20 timber beam, allow the
formwork elements to be assembled quickly and simply. The assembly is done as easily as the disassembly. The
waling system can be used for all vertical formwork applications, walls, columns and retaining walls formwork.

Only Three System Components:
- H20 Timber Beams

- Steel Walings

- 18mm Marine Plywood

- Economy Through Versatility
- Dimensional Accuracy

- Reusable Stundard Components H20 Timber Beam

- ngh sufety SI'CII'IdCII‘dS Moment of resistance: 5.00 kN.m
Shear resistance: 11 kN
T
This formwork system is composed of limited components. Plywood for _I:
making up of the concrete surface, H20 wooden beams, horizontal primary 4

walings, supports and tie-rod elements providing structural unity.
20
Not only easy installation and use have made this system so popular in
monolithic construction but also its economically advantageous solutions

and high quality. __4]:

02

Waling System



Column Formwork for all Cross Sections and Heights

Soooboooooooooo

oo coooodoo:

o

e
Sooooocoocoooodgoos

)
D e e

CoooooooooRCOoO!

Column Formwork

T X (= (Y Y Y (= = = =Y == = (Y =Y = =Y =Y ==Y =Y ==Y =Y ==Y =i (==Y ={=Y=Y={= Y=Y=(={=

e T e e Y B Y e Y Y Y Y X Y O X Y Y Y X Y S X Y O N T K S S S X

90x90 cm
g
3
g aaaaaaaaaaaaaa
g g
pi T g
3 a
0
! :
cccccccccccccc 3
0,
I - :
(5 Shear Wall Formwork Column Formwork
“G‘e’te 2 40x280 cm 40x40 cm
Wa* co 0 \‘“\ﬁ‘
. . Table of Waling Vertical Spacing - Column Formwork
o N Waling Spacing
N -tﬁ'—mn:cmfh- Formwork (om) A B C D E
Height (cm)
245 45 130
265 45 130
E 290 30 100 90
330 30 100 120
, . 360 30 100 130
e emm————.
+— i u = 390 30 90 100 100
o 450 30 90 120 130
D :f:’ 490 30 100 130 130
N 590 30 100 100 130 130
[
(o]
, . 2 Table of Waling Vertical Spacing - Wall Formwork
%h -Cﬁ"—mEIIEm?ﬂ- E Waling Spacing
o em| A B c D E
(o] Formwork
LL Height (cm)
c 245 45 130
265 45 130
290 45 160
—tﬁ ' 360 30 120 130
B 390 30 130 140
450 30 100 120 120
1 " = 490 30 120 130 130
A -ﬁ . . 590 30 120 120 120 120




Wt. (kg) Code Wt. (kg) Code
Steel Waling (SW) W10 Colend Bracket
SW 100%50 - 50 om 10.44 FWS03P050 W10 Colend Bracket 2.64 XFSSCEB
SW 100x50 - 75 cm 15.37 FWS03P075
SW 100x50 - 100 cm 20.30 FWS03P100
SW 100x50 - 125 cm 25.32 FWS03P125
SW 100x50 - 150 cm 3044 FWS03P150
SW 100x50 - 175 cm 35.37 FWS03P175
SW 100x50 - 200 cm 40.30 FWS03P200
SW 100x50 - 225 cm 4523 FWSO03P225 W10 Colprop Bracket
SW 100x50 - 250 cm 50.45 FWS03P250
SW 100x50 - 275 cm 55.38 FWS03P275
SW 100x50 - 300 cm 60.31 FWS03P300
SW 100x50 - 325 cm 65.53 FWS03P325
SW 100x50 - 350 cm 70.46 FWS03P350 W10 Colprop Bracket 1.61 XFSSCPB
SW 100x50 - 375 cm 75.93 FWS03P375
SW 100x50 - 400 cm 80.60 FWS03P400
SW 100x50 - 425 cm 85.83 FWS03P425
SW 100x50 - 450 cm 90.75 FWS03P450
SW 100x50 - 475 cm 95.68 FWS03P475
SW 100x50 - 500 cm 100.90 FWS03P500 W10 Column Waling Splice - D
SW 100x50 - 525 cm 105.83 FWS03P525
SW 100x50 - 550 cm 110.76 FWS03P550
SW 100x50 - 575 cm 115.98 FWS03P575
SW 100x50 - 600 cm 120.91 FWS03P600 =T
4& ‘W10 Column Waling Splice - D 3.14  XFSSCWSP050
==
W10 Waling Splice-S
W10
Finish: Painted 1.37 FWs026
W10 Waling Corner Bracket
‘W10 Waling Corner Bracket 4.46 XFSSCCB
W10 Unbent Waler Connector 5.20 FWS027
Splice of $150 Aluminum Beam
FWS028
A
° Splice of 150 Aluminum Beam 713 FWS023
o
FWS025 ¢
o
Finish: Painted
Supplied with 4 numbers of M16 x 040 boit & nut
W10 Lifting Lug
W10 Lifting Lug 2.85 XC122LL01
W10 Adjustable Pivot Cleat 10.04 FWS031
Finish: Painted
Waling Soldier Connector
@ Waling Soldier Connector 1.25 FWS012
W10 Pivot Cleat 7.48 FWS031
Aluminum Waler Clamp
(Aluminum to Waling W12+W10)
W10 Stop End Bracket Aluminum Waler Clamp
P (Aluminum to Waling W12+W10) 0.88 XFGWALC
Finish: Electroplated
W10 Waling Single Aluminum Clamp - EP
/ ‘W10 Stop End Bracket 1.06 FWS029 (AIum. to Waling)
52
W10 Waling Single Aluminum Clamp -EP  0.29 FWsS024

(Alum. to Waling)

v/

04



Wt. (kg) Code Wt. (kg) Code
Waling Spacer-50 Aluminum Beam (AB) T150
With Timber
) AB T-150 (150 x 80) 050 cm 2.92 FABTTO050
Waling Spacer-50 0.09 XWSSP050 AB T-150 (150 x 80) 075 cm 4.37 FABTTO75
AB T-150 (150 x 80) 100 cm 5.83 FABTT100
AB T-150 (150 x 80) 125 cm 7.29 FABTT125
Eiich: Paiiod Bl AB T-150 (150 x 80) 150 cm 8.75 FABTT150
i ABT-150 (150 x 80) 175cm  10.20 FABTT175
HD Shoring Base ABT-150 (150 x 80) 200cm  11.66 FABTT200
ABT-150 (150 x 80) 225cm  13.12 FABTT225
ABT-150 (150 x 80) 250 cm  14.58 FABTT250
Aluminum Boam T150 ABT-150 (150 x 80) 275cm  16.03 FABTT275
(Timber Size 38x38mm) ABT-150 (150 x 80) 300 cm ~ 17.49 FABTT300
ABT-150 (150 x 80) 325cm  18.95 FABTT325
HD Shoring Base-50 4.48 FSS99P056 Finish: Mill Finish AB T-150 (150 x 80) 350 cm 20.41 FABTT350
HD Shoring Base-60 4.48 FSS99P057 AB T-150 (150 x 80) 375 cm 21.86 FABTT375
Moment of resistance: 13.00 kN.m  AB T-150 (150 x 80)400cm  23.32 FABTTA400
Area:18.87 cm ABT-150 (150 x 80)425cm 2478 FABTT425
Inertia xx:574.3 om ABT-150 (150 x 80) 450 cm  26.24 FABTT450
’S”:;;z n}’{;;;j/u"scz";x_ 75,36 0m AB T-150 (150 x 80)475cm  27.69 FABTT475
Young's Modlits 69000 Nimm ABT-150 (150 x 80) 500 cm  29.15 FABTT500
Weight: 5.80 kg/m (with Timber) AB T-150 (150 x 80) 525 cm 30.61 FABTT525
Finish: Painted 5.05 kg/m (without Timber)  AB T-150 (150 x 80) 550 cm  32.07 FABTT550
- Timber WE=0.75 kg/m ABT-150 (150 x 80) 575cm  33.52 FABTT575
Rocking Push Pull Prop Base AB T-150 (150 x 80) 600 cm  34.98 FABTT600
Without Timber
_ AB T-150 (150 x 80) 050 cm 254 FABTWO050
xﬂ Rocking Push Pull Prop Base 0.94 XFGRB0O1 AB T-150 (150 x 80) 075 cm 3.81 FABTWO075
AB T-150 (150 x 80) 100 cm 5.08 FABTW100
=1 o AB T-150 (150 x 80) 125 cm 6.35 FABTW125
Finish: Painted AB T-150 (150 x 80) 150 cm 7.62 FABTW150
Double Push Pull Prop Base AB T-150 (150 x 80) 175 cm 8.89 FABTW175
ABT-150 (150 x 80) 200cm  10.16 FABTW200
ABT-150 (150 x 80) 225cm  11.43 FABTW225
ABT-150 (150 x 80) 250 cm  12.70 FABTW250
ABT-150 (150 x 80) 275cm  13.97 FABTW275
Double Push Pull Prop Base 3.00 XFGRB002 AB T-150 (150 x 80) 300 cm 15.24 FABTW300
AB T-150 (150 x 80) 325cm  16.51 FABTW325
ABT-150 (150 x 80) 350 cm ~ 17.78 FABTW350
o ABT-150 (150 x 80) 375cm  19.05 FABTW375
Finish: Painted AB T-150 (150 x 80)400cm  20.32 FABTW400
Double Push Pull Prop Base- Modified AB T-150 (150 x 80) 425cm  21.59 FABTWA425
ABT-150 (150 x 80) 450 cm ~ 22.86 FABTWA450
ABT-150 (150 x 80)475cm 2413 FABTWA75
Aluminum Beam T150 ABT-150 (150 x 80) 500 cm ~ 25.40 FABTWS500
-~ (without Timber) ABT-150 (150 x 80) 525cm  26.67 FABTW525
Double Push Pull Prop Base- Modified 3.46 XFGRB003 AB T-150 (150 x 80) 550 cm 27.04 FABTWS550
AB T-150 (150 x 80) 575cm  29.21 FABTW575
Finish: Painted ABT-150 (150 x 80) 600 cm 3048 FABTW600
SF Anchor Hook 35 om Aluminum Beam (AB) $150
With Timber
AB $-150 (150 x 75) 050 cm 1.95 FABST050
SF Anchor Hook 35 cm 078 FSFAH35 AB §-150 (150 x 75) 075 cm 2.93 FABSTO75
AB $-150 (150 x 75) 100 cm 3.90 FABST100
AB $-150 (150 x 75) 125 cm 488 FABST125
AB $-150 (150 x 75) 150 cm 5.85 FABST150
AB $-150 (150 x 75) 175 cm 6.83 FABST175
AB $-150 (150 x 75) 200 cm 7.80 FABST200
- - AB $-150 (150 x 75) 225 cm 8.78 FABST225
Waling Casting Bracket AB S-150 (150 x 75) 250 cm  9.75 FABST250
A Boam S150 ABS-150 (150 x 75) 275¢cm  10.73 FABST275
(Timber Size 36x38mm) ABS-150 (150 x 75) 300 cm  11.70 FABST300
ABS-150 (150 x 75) 325cm  12.68 FABST325
Finish: Mill Finish ABS-150 (150 x 75) 350 cm  13.65 FABST350
ABS-150 (150 x 75) 375¢cm  14.63 FABST375
Waling Casting Bracket 13.84 FWS008 AB S-150 (150 x 75) 400 cm 15.60 FABST400
ABS-150 (150 x 75)425¢cm 1658 FABST425
AB S-150 (150 x 75)450 cm ~ 17.55 FABST450
ABS-150 (150 x 75)475¢cm  18.53 FABST475
AB S-150 (150 x 75) 500 cm  19.50 FABST500
ABS-150 (150 x 75) 525 cm  20.48 FABST525
AB S-150 (150 x 75) 550 cm  21.45 FABST550
ABS-150 (150 x 75) 575 cm  22.43 FABST575
AB S-150 (150 x 75) 600 cm  23.40 FABST600
Finish: Painted
Supplied with 1 number of M16 x 120 boit & nut Without Timber
AB $-150 (150 x 75) 050 cm 158 FABSW050
AB $-150 (150 x 75) 075 cm 2.36 FABSWO75
AB $-150 (150 x 75) 100 cm 3.15 FABSW100
AB $-150 (150 x 75) 125 cm 3.94 FABSW125
AB $-150 (150 x 75) 150 cm 473 FABSW150
AB $-150 (150 x 75) 175 cm 5.51 FABSW175
AB $-150 (150 x 75) 200 cm 6.30 FABSW200
) AB $-150 (150 x 75) 225 cm 7.09 FABSW225
A’”;’V’V’gh”(’)”uf;fn”; S150 AB S-150 (150 x 75) 250 cm 7.88 FABSW250
) AB $-150 (150 x 75) 275 cm 8.66 FABSW275
AB $-150 (150 x 75) 300 cm 9.45 FABSW300
ABS-150 (150 x 75) 325cm  10.24 FABSW325
moment of resisiance: 6.60 kv.m  AB S-150 (150X 75) 350 cm  11.03 FABSW350
Aron 196 om AB S-150 (150 x 75) 375cm  11.81 FABSW375
Inertia xx: 356 cm AB S-150 (150 x 75)400 cm  12.60 FABSW400
Inertia yy: 43.764 cm ABS-150 (150 x 75)425cm  13.39 FABSWA425
?gigovs %%%uu//uufi _Zggégg K’%f; AB $-150 (150 x 75) 450 cm 1418 FABSW450
Weiggt_ 308 kgt (with Timbor) B S-150 (160 x75)475cm  14.96 FABSWA475
3.20 kg (without Timber) AB S-150 (150 x 75) 500 cm 1575 FABSW500
Timber WE.=0.75 kgt/m AB S-150 (150 x 75) 525 cm  16.54 FABSW525
AB S-150 (150 x 75) 550 cm  17.33 FABSW550
AB S-150 (150 x 75) 575cm  18.11 FABSW575
AB S-150 (150 x 75) 600 cm  18.90 FABSW600

05



Wt. (kg) Code Wt. (kg) Code
Double Push Pull Props Double Adjustable Scaffold Tube (ST) Painted
(DPPPDA) M.D. Tube
ST 100 cm MD 228  FSTP20100
ST 150 cm MD 342  FSTP20150
DPPPDA 150cm (E/P Collar) HD ~ 20.00  FDPD10015030E ST 200 cm MD 4.57  FSTP20200
DPPPDA 250cm (E/P Collar) HD ~ 22.24  FDPD15025030E ST 250 cm MD 571 FSTP20250
DPPPDA 300cm (E/P Collar) HD ~ 24.36  FDPD17030030E ST 300 cm MD 6.865  FSTP20300
DPPPDA 350cm (E/P Collar) HD ~ 26.02  FDPD20035030E ST 350 cm MD 799 FSTP20350
DPPPDA 400cm (E/P Collar) HD ~ 27.26  FDPD25040030E o ST 400 cm MD 913 FSTP20400
DPPPDA 450cm (E/P Collar) HD ~ 31.93 FDPD25045030E Finish; Painted ST 450 cm MD 10.27 - FSTP20450
DPPPDA 500cm (E/P Collar) HD ~ 33.61 FDPD30050030E fa.:48.3 mm ST 500 cm MD 1142 FSTP20500
DPPPDA 550cm (E/P Collar) HD ~ 35.28 FDPD35055030E ST 550 cm MD 1256 FSTP20550
DPPPDA 600cm (E/P Collar) HD ~ 36.96 FDPD4Q0G0030E ST 600 cm MD 13.70  FSTP20600
Single Rocking Push-Pull Prop (SRPPP) ST 100 cm HD 3.35 FSTP30100
SRPPP 150¢m (Painted Collar) HD 10.09 FRPP10015030P ST 150 cm HD 503 FSTP30150
SRPPP 200cm (Painted Collar) HD 12.21 FRPP12020030P ST 200 cm HD 6.70  FSTP30200
SRPPP 250cm (Painted Collar) HD 13.84 FRPP15025030P ST 250 cm HD 8.38  FSTP30250
SRPPP 300cm (Painted Collar) HD 15.96 FRPP17030030P Finish Paintod g ggg om :g 1?32 Egﬁggggg
SRPPP 350cm (Painted Collar) HD 17.62 FRPP20035030P Do 5.3 o :
SRPPP 400cm (Painted Collar) HD 19.30 FRPP25040030P ST 400 cm HD 1341 FSTP30400
SRPPP 450cm (Painted Collar) HD 21.42 FRPP25045030P ST 450 cm HD 15.08 = FSTP30450
SRPPP 500cm (Painted Collar) HD 23.09 FRPP30050030P ST 500 cm HD 16.76 = FSTP30500
SRPPP 550cm (Painted Collar) HD 24.77 FRPP35055030P ST 550 cm HD 1843 = FSTP30550
SRPPP 600cm (Painted Collar) HD 26.44 FRPP40060030P ST 600 cm HD 2011 FSTP30600
SRPPP 150cm (E/P Collar) HD ~ 10.09 FRPP10015030E
SRPPP 200cm (E/P Collar) HD 12.21  FRPP12020030E Scaffold Tube (ST) Black
SRPPP 250cm (E/P Collar) HD ~ 13.84 FRPP15025030E
SRPPP 300cm (E/P Collan) HD ~ 15.96 FRPP17030030E
SRPPP 350cm (E/P Collar) HD 17.62 FRPP20035030E ST 100 cm MD 228 ESTN20100
SRPPP 400cm (E/P Collar) HD 19.30 FRPP25040030E ST 150 cm MD 3.42 ESTN20150
SRPPP 450cm (E/P Collar) HD 2142 FRPP25045030E ST 200 cm MD 457 ESTN20200
SRPPP 500cm (E/P Collar) HD 23.09 FRPP30050030E ST 250 cm MD 5.71 ESTN20250
Finish: Painted SRPPP 550cm (E/P Collar) HD 2477 FRPP35055030E ST 300 cm MD 6.85 ESTN20300
SRPPP 600cm (E/P Collar) HD 26.44 FRPP40060030E ST 350 cm MD 7.09 ESTN20350
Single Stabilizer (S9) ST 400 cm MD 913 FSTN20400
SS 48-150 cm Painted 883 FSZS3848P150 ST 450 cm MD 10.27 - FSTN20450
SS 48-200 cm Painted 1071 FSZS3848P200 Finish: Black ST 500 cm MD 1142 FSTN20500
SS 48-250 cm Painted 12.63 FSZS3848P250 Dia.:48.3 mm ST 550 cm MD 1256 FSTN20550
SS 48-300 cm Painted 1472 FSZS3848P300 ST 600 cm MD 1370 FSTN20600
SS 48-350 cm Painted 16.80 FSZS3848P350
SS 48-400 cm Painted 19.74  FSZS3848P400
SS 48-150 cm E/P 8.83 FSZS3848E150
SS 48-200 cm E/P 1071  FSZS3848E200
SS 48-250 cm E/P 12.63 FSZS3848E250
SS 48-300 cm E/P 1472  FSZS3848E300 H.D. Tube
SS 48-350 cm E/P 16.80 FSZS3848E350
SS 48-400 cm E/P 19.74  FSZS3848E400 ST 100 6m HD 3.35 TN
ST 150 cm HD 503  FSTN30150
S8 60-150 cm Painted 10.70 FSZS3860P150 ST 200 cm HD 6.70 FSTN30200
S8 60-200 cm Painted 13.08 FSZS3860P200 ST 250 cm HD 8.38 FSTN30250
S8 60-250 cm Painted 1555 FSZS3860P250 ST 300 cm HD 10.05 FSTN30300
S8 60-300 cm Painted 1819  FSZS3860P300 Finish: Black ST 350 cm HD 11.73 FSTN30350
S8 60-350 cm Painted 20.84 FSZS3860P350 Dia.48.3 mm ST 400 cm HD 13.41 FSTN30400
S8 60-400 cm Painted 24.34  FSZS3860P400 ST 450 cm HD 15.08 FSTN30450
S8 60-450 cm Painted 26.99 FSZS3860P450 ST 500 cm HD 16.76 FSTN30500
S8 60-500 cm Painted 29.64  FSZS3860P500 ST 550 cm HD 18.43 FSTN30550
S8 60-550 cm Painted 32.28 FSZS3860P550 ST 600 cm HD 20.11 FSTN30600
SS 60-600 cm Painted 34.93  FSZS3860P600
SS 60-700 cm Painted 4022  FSZS3860P700
SS 60-150 cm E/P 10.70  FSZS3860E150
SS 60-200 cm E/P 1308 Fszs3ge0E200  Scaffold Tube (ST) GI
SS 60-250 cm E/P 1555 FSZS3860E250 m
SS 60-300 cm E/P 18.19  FSZS3860E300
SS 60-350 cm E/P 20.84  FSZS3860E350 ST 100 cm MD 228 FSTG20100
) - SS 60-400 cm E/P 24.34  FSZS3860E400 ST 150 cm MD 3.42 FSTG20150
xzx g:gg;z g:ggzgzg ‘ég SS 60-450 cm E/P 26.99 FSZS3860E450 ST 200 ¢cm MD 457 FSTG20200
SS 60-500 cm E/P 29.64  FSZS3860E500 ST 250 cm MD 5.71 FSTG20250
SS 60-550 cm E/P 32.28 FSZS3860E550 ST 300 cm MD 6.85 FSTG20300
SS 60-600 cm E/P 3493 FSZS3860E600 Finish: G/ ST 350 cm MD 7.99 FSTG20350
SS 60-700 cm E/P 40.22  FSZS3860E700 Dia.:48.3 mm ST 400 cm MD 913  FSTG20400
Double Staizers () T
DS 48-250 cm Painted 2447  FSZD3848P250 -
; ST 550 cm MD 1256 FSTG20550
DS 48-300 cm Painted 2843  FSZD3848P300 oT 600 e VD hd
DS 48-350 cm Painted 3051 FSZD3848P350 :
DS 48-400 cm Painted 3537  FSZD3848P400
DS 48-250 cm E/P 2447  FSZD3848E250
DS 48-300 cm E/P 2843  FSZD3848E300 H.D. Tube |
DS 48-350 cm E/P 3051 FSZD3848E350
DS 48-400 cm E/P 3537  FSZD3848E400 ST 100 cm HD 3.35  FSTG30100
ST 150 cm HD 503  FSTG30150
DS 60-250 cm Painted 29.25 FSZD3860P250 ST 200 ¢cm HD 6.70 ESTG30200
DS 60-300 cm Painted 34.28 FSZD3860P300 ST 250 cm HD 8.38 ESTG30250
DS 60-350 cm Painted 36.92 FSZD3860P350 ST 300 cm HD 10.05 ESTG30300
DS 60-400 cm Painted 40.42 FSZD3860P400 Finish: G ST 350 cm HD 11.73 ESTG30350
DS 60-450 cm Painted 4553 FSZD3860P450 Dia.:4é?.3 J. ST 400 cm HD 13.41 ESTG30400
DS 60-500 cm Painted 4818 FSZD3860P500 ST 450 cm HD 15.08 ESTG30450
DS 60-550 cm Painted 50.83 FSZD3860P550 ST 500 cm HD 16.76 ESTG30500
DS 60-250 om E/P 2025 FSZD386OE250 T osoem D o
DS 60-300 cm E/P 3428 FSZD3860E300 :
DS 60-350 cm E/P 36.92 FSZD3860E350
DS 60-400 cm E/P 4042  FSZD3860E400
DS 60-450 cm E/P 4553  FSZD3860E450
DS 60-500 cm E/P 4818  FSZD3860E500
DS 60-550 cm E/P 50.83 FSZD3860E550

06



Wt. (kg) Code Wt. (kg) Code
Bolt, Nut and Washer Tie Rod
Bolt and Nut M12x100 (Half Threaded) 0.14 XFGGH1210
Bolt and Nut M12x40 (Full Threaded) G8  0.10  XFGBF12040
Bolt and Nut M16X150 0.33 XFGBF16150
Bolt, Nut & Washer 16X100 mm 0.20 XFGBF16100
Full Threaded Bolt,  Bolt, Nut & Washer 16X100 mm G10 0.25 XFGBG16100 y
Nut and Washers  Bolt. Nut & Washer 16X40 mm 014 XFGBF16040 Tie Roa 015 om Black D
Bolt, Nut & Washer 14X100 mm 0.15 XFGBF14100 T:: Rgd 095 gm Blzgk 030 IR SaeE
M Bolt, Nut & Washer M12X80 (Carriage) 0.02 XFGBF12080 Dia.: 16 mm Tie Rod 030 om Black 0'47 XEGTRB030
Bolt, Nut & Washer 10X100 (Half Threaded) 0.08 XFGBH10100 Tio Rog 035 o Black oo IS
Half Threaded Boit. Bl Nut & Washer 10X75 (Full Threaded)  0.07  XFGBF10075 Tio Rog 040 o Bk o062 IS
Nut and Washers  Bolt, Nut & Washer 10X30 mm 0.04 XFGBON10030W e ~o cm bac :
Bolt and Nut wio Washer 06x40 mm Gl 0.01 XFGBONOS40GN Tie Rod 045 om Black 0.70 IR RCIIR BT
Tie Rod 050 cm Black 0.78  XFGTRBO50
Tie Rod 055 cm Black 0.85  XFGTRBO55
Tie Rod 060 cm Black 093  XFGTRBO60
Tie Rod 065 cm Black 101  XFGTRB065
Water Stopper Tie Rod 070 cm Black 109  XFGTRBO70
Tie Rod 075 cm Black 116  XFGTRBO75
_ Water Stopper Gl-Finish 0.56 XFGWSE Tie Rod 080 cm Black 1.24 XFGTRB080O
‘ ‘a\ Water Reducer 0.00 XWSSP050 Tie Rod 085 cm Black 132  XFGTRB085
/’ Tie Rod 090 cm Black 140  XFGTRB0OYO
@/ Tie Rod 095 cm Black 147 XFGTRB095
(@ (@ Tie Rod 100 cm Black 155  XFGTRB100
Tie Rod 105 cm Black 163  XFGTRB105
Piasic Foducar Tie Rod 110 cm Black 171 XFGTRB110
Tie Rod 115 cm Black 178  XFGTRB115
Plastic Cone Tie Rod 120 cm Black 1.86 XFGTRB120
Tie Rod 125 cm Black 194  XFGTRB125
Tie Rod 130 cm Black 202  XFGTRB130
Plastic Cone 0.01 XFGCONE Tie Rod 135 cm Black 209  XFGTRB135
Tie Rod 140 cm Black 217 XFGTRB140
Tie Rod 145 cm Black 225  XFGTRB145
Tie Rod 150 cm Black 233  XFGTRB150
- Tie Rod 155 cm Black 240  XFGTRB155
Plastic Sleeve 1M Tie Rod 160 cm Black 248  XFGTRB160
Tie Rod 165 cm Black 256  XFGTRB165
Plastic Sleeve 1M 0.15  XFGPSL100 Tie Rod 170 cm Black 264  XFGTRB170
Tie Rod 175 cm Black 271 XFGTRB175
Tie Rod 180 cm Black 279 XFGTRB180
- Tie Rod 185 cm Black 287  XFGTRB185
For the required length use muitiple of one meter T!e Rod 190 cm Black 2.95 XFGTRB190
Tie Rod 195 cm Black 302  XFGTRB195
Counter Plate Tie Rod 200 cm Black 3.10 XFGTRB200
Tie Rod 205 cm Black 318  XFGTRB205
Tie Rod 210 cm Black 326  XFGTRB210
Tie Rod 215 cm Black 333  XFGTRB215
Tie Rod 220 cm Black 341  XFGTRB220
/ Counter Plate 90x90x6 mm 0.35 XFGCPB0OE02 Tie Rod 225 cm Black 3.49 XEGTRB225
7 / Counter Plate 90x20x8 mm 0.49 XFGCP80EQ2 Tie Rod 230 cm Black 357 XEGTRB230
Counter Plate 150x150 mm 1.40 XFGCP80E15 Tie Rod 235 cm Black 3.64 XEGTRB235
/ Tie Rod 240 cm Black 372  XFGTRB240
Tie Rod 245 cm Black 380  XFGTRB245
Tie Rod 250 cm Black 388  XFGTRB250
Tie Rod 255 cm Black 395  XFGTRB255
Tie Rod 260 cm Black 403  XFGTRB260
_ Tie Rod 265 cm Black 411 XFGTRB265
Wing Nut Tie Rod 270 cm Black 419 XFGTRB270
Tie Rod 275 cm Black 426  XFGTRB275
Tie Rod 280 cm Black 434  XFGTRB280
Tie Rod 285 cm Black 442  XFGTRB285
Wing Nut E/P 030  XFGWNUTE Tie Rod 290 cm Black 450  XFGTRB290
Tie Rod 295 cm Black 457  XFGTRB295
Tie Rod 300 cm Black 465  XFGTRB300
Tie Rod 310 cm Black 481  XFGTRB310
Tie Rod 320 cm Black 496  XFGTRB320
Tie Rod 330 cm Black 512  XFGTRB330
- Tie Rod 340 cm Black 527  XFGTRB340
Round Wing Nut Tie Rod 350 cm Black 543  XFGTRB350
Tie Rod 360 cm Black 558  XFGTRB360
Tie Rod 370 cm Black 574  XFGTRB370
Tie Rod 380 cm Black 589  XFGTRB380
Tie Rod 390 cm Black 6.05  XFGTRB390
Tie Rod 400 cm Black 6.20  XFGTRB400
Round Wing Nut (Anchor Nut) 0.63  XANUT15100 Tie Rod 410 cm Black 6.36  XFGTRB410
Tie Rod 420 cm Black 651  XFGTRB420
Tie Rod 430 cm Black 6.67  XFGTRB430
Tie Rod 440 cm Black 6.82  XFGTRB440
Tie Rod 450 cm Black 6.98  XFGTRB450
Finish: Electroplated Tie Rod 460 cm Black 713 XFGTRB460
DIA.: 100 mm Tie Rod 470 cm Black 7.29 XFGTRB470
Tie Rod 480 cm Black 744  XFGTRB480
Tie Rod 490 cm Black 760  XFGTRB490
Tie Rod 500 cm Black 7.75  XFGTRB500
Tie Rod 510 cm Black 791 XFGTRB510
Tie Rod 520 cm Black 8.06  XFGTRB520
Tie Rod 530 cm Black 822  XFGTRB530
Tie Rod 540 cm Black 837  XFGTRB540
Tie Rod 550 cm Black 853  XFGTRB550
Tie Rod 560 cm Black 868  XFGTRB560
Tie Rod 570 cm Black 8.84  XFGTRB570
Tie Rod 580 cm Black 899  XFGTRB580
Tie Rod 590 cm Black 915  XFGTRB590
Tie Rod 600 cm Black 930  XFGTRB60O

07



Wt. (kg) Code Wt. (kg) Code
Steel Waling (SW) W12 Adj. Waling Connector
W12 Adj. Waling Connector 6.10 XFWS017
SW 120X55 - 060 cm 1473  FWS02P060
SW 120X55 - 090 cm 21.81 FWS02P090
SW 120X55 - 120 cm 28.88  FWS02P120
SW 120X55 - 150 cm 3652  FWS02P150
SW 120X55 - 180 cm 4332  FWS02P180
SW 120X55 - 210 cm 5040  FWS02P210
SW 120X55 - 240 cm 57.76  FWS02P240 ) '
SW 120X55 - 270 cm 64.84  FWS02P275 W12 Waling Splice-S 240 RO
SW 120X55 - 300 cm 7220  FWS02P300
SW 120X55 - 330 cm 7920  FWS02P330
SW 120X55 - 360 cm 86.64  FWS02P360
SW 120X55 - 390 cm 93.72  FWS02P390
SW 120X55 - 400 cm 102.41 FWS02P400
SW 120X55 - 420 cm 101.80  FWS02P420
SW 120X55 - 450 cm 108.16  FWS02P450
SW 120X55 - 480 cm 11552  FWS02P480
SW 120X55 - 510 cm 12260  FWS02P510
SW 120X55 - 540 cm 12096  FWS02P540 ) '
SW 120X55 - 570 cm 137.04  FWS02P570 W12 Waling Splice-D 540 PR
SW 120X55 - 600 cm 144 11 FWS02P600
FWS002
W12
W12 Unbent Waler Connector 56
Finish: Painted
- ‘W12 Unbent Waler Connector 56 4.09 FWS023
W12 Active Waler Connector
W12 Active Waler Connector n
(for U-Channel 12) 9.48 FWS004 W12 Waling Prop Connector
‘W12 Waling Prop Connector 1.82 XWSPC001
W12 Right Angle Waler Connector
W12 Right Angle Waler Connector
(for U-Channel 12) 10.64 FWS003 W12 Waler Bracket
W12 Waling Stop End Bracket
‘W12 Waler Round Bracket 2.30 FWSRB020
W12 Waling Stop End Bracket 1.05 FWS009
W12 Waler Delta Bracket 2.40 FWSDBO021
W12 Waling Corner Connector - 50
W12 Waler Gamma Bracket 3.34 FWSGB022
‘W12 Waling Corner Connector - 50 3.9 FWS014 - -
W12 Waling Pivot Cleat
W12 Waling Corner Connector - 100 W12 Waling Pivot Cleat 6.75 FWS021
‘W12 Waling Corner Connector - 100 6.0 FWS013

08



Wt. (kg) Code Wt. (kg) Code

W12 Waling Adjustable Pivot Cleat W12 Waling Single H20 Clamp (H20 to Waling)

‘W12 Waling Single H20 Clamp
W12 Waling Adjustable Pivot Cleat 9.36 FW8022 (H20 to Waling) 0.43 FWS024

H20 Timber Beam (TB)

Waling Soldier Connector

H20 TB (200x80) 0125 cm 625  FTBH20125
H20 TB (200x80) 0145 cm 725  FTBH20145
4’\ H20 TB (200x80) 0165 cm 825  FTBH20165
Waling Soldier Connector 1.25 FWS012 H20 TB (200x80) 0180 cm 9.00  FTBH20180
H20 TB (200x80) 0225 cm 1125  FTBH20225
° H20 TB (200x80) 0245 cm 1225  FTBH20245
H20 TB (200x80) 0265 cm 1325  FTBH20265
H20 TB (200x80) 0290 cm 1450  FTBH20290
H20 TB (200x80) 0295 cm 1475  FTBH20295
H20 TB (200x80) 0330 cm 1650  FTBH20330
. H20 TB (200x80) 0360 cm 18.00  FTBH20360
H20 Waler Clamp (H20 to Waling W12+W10) Moment: 5.00kN.m  H20 TB (200x80) 0390 cm 1950  FTBH20390
Stear: 11kN H20 TB (200x80) 0450 cm 2250  FTBH20450
2’7{33;2-%;” H20 TB (200x80) 0490 cm 2450  FTBH20490
i H20 TB (200x80) 0590 cm 2950  FTBH20590
H20 Waler Clamp . | H20 TB (200x80) 1190 cm 5950  FTBH201190
(H20 to Waling W12+W10) 0.70 XFGH20WC Finish Varmishod Yolow
Supports are rounded at the end
for damage protection. Web-three
layer crosswise laminated solid

timber panel.
Weight: 5 kg per running meter

Splice of H20 Beam

& HD Shoring base-50 4.48 FSS99P056
Splice of H20 Beam 8.40 FWS017 HD Shoring base-60 4.48 FSSa9P057
o
o
o
° Finish: Painted
Finish: Painted —
Suppliod with 4 numbers of M16 x 100 bolt & nut Rocking Push Pull Prop Base
Universal Lifting Bracket ﬁ Rocking Push Pull Prop Base 0.94 XFGRB001
‘ — Finish: Painted
Universal Lifting Bracket 3.58 XFGULBO1 Double Push Pull Prop Base

Double Push Pull Prop Base 3.00 XFGRB002

Finish: Painted

Double Push Pull Prop Base- Modified

Unbent Waler Connector Holder

Double Push Pull Prop Base- Modified 3.46 XFGRB003
Unbent Waler Connector Holder 1.84 XWSUWCH20

Finish: Painted
Supplied with 2 numbers of M16 x 100 boit & nut

Finish: Painted

SF Anchor Hook 35 cm
Waling Casting Bracket
SF Anchor Hook 35 cm 0.78 FSFAH35
Waling Casting Bracket 13.84 FWS008
Wedge
W Wedge 0.59 FWS007
Finish: Painted
Supplied with 1 number of M16 x 120 bolt & nut Waling Spacer-50
Waling Spacer-50 0.09 XWSSP050

Finish: Painted Blue



Wt. (kg) Code Wt. (kg) Code
Double Push Pull Props Double Adjustable Scaffold Tube (ST) Painted
(DPPPDA) M.D. Tube
ST 100 cm MD 228 FSTP20100
ST 150 cm MD 342 FSTP20150
DPPPDA 150xm (E/P Collar) HD ~ 20.00  FDPD10015030E ST 200 cm MD 4.57  FSTP20200
DPPPDA 250cm (E/P Collar) HD ~ 22.24  FDPD15025030E ST 250 cm MD 571 FSTP20250
DPPPDA 300cm (E/P Collar) HD ~ 24.36  FDPD17030030E ST 300 cm MD 6.865  FSTP20300
DPPPDA 350cm (E/P Collar) HD ~ 26.02  FDPD20035030E ST 350 cm MD 799 FSTP20350
DPPPDA 400cm (E/P Collar) HD ~ 27.26  FDPD25040030E o ST 400 cm MD 913 FSTP20400
DPPPDA 450cm (E/P Collar) HD ~ 31.93 FDPD25045030E Finish; Painted ST 450 cm MD 10.27 - FSTP20450
DPPPDA 500cm (E/P Collar) HD ~ 33.61 FDPD30050030E 48 ST 500 cm MD 1142 FSTP20500
DPPPDA 550cm (E/P Collar) HD ~ 35.28 FDPD35055030E ST 550 cm MD 1256 FSTP20550
DPPPDA 600cm (E/P Collar) HD ~ 36.96 FDPD4Q0G0030E ST 600 cm MD 13.70  FSTP20600
Single Rocking Push-Pull Prop (SRPPP) ST 100 cm HD 3.35 FSTP30100
SRPPP 150cm (Painted Collar) HD 10.09 FRPP10015030P ST 150 cm HD 5.03 FSTP30150
SRPPP 200cm (Painted Collar) HD 12.21  FRPP12020030P ST 200 cm HD 6.70 FSTP30200
SRPPP 250cm (Painted Collar) HD 13.84 FRPP15025030P ST 250 cm HD 8.38 FSTP30250
SRPPP 300cm (Painted Collar) HD 15.96 FRPP17030030P Finish Paintod ST 300 cm HD 10.05 FSTP30300
SRPPP 350cm (Painted Collar) HD 17.62 FRPP20035030P Pl ST 350 cm HD 11.73 FSTP30350
SRPPP 400cm (Painted Collar) HD 19.30 FRPP25040030P ST 400 cm HD 13.41 FSTP30400
SRPPP 450cm (Painted Collar) HD 21.42 FRPP25045030P ST 450 cm HD 15.08 FSTP30450
SRPPP 500cm (Painted Collar) HD 23.09 FRPP30050030P ST 500 cm HD 16.76 FSTP30500
SRPPP 550cm (Painted Collar) HD 24.77 FRPP35055030P ST 550 cm HD 1843 FSTP30550
SRPPP 600cm (Painted Collar) HD 26.44 FRPP40060030P ST 600 cm HD 20.11 FSTP30600
SRPPP 150cm (E/P Collar) HD ~ 10.09 FRPP10015030E
SRPPP 200cm (E/P Collar) HD 12.21  FRPP12020030E Scaffold Tube (ST) Black
SRPPP 250cm (E/P Collar) HD ~ 13.84 FRPP15025030E
SRPPP 300cm (E/P Collar) HD ~ 15.96 FRPP17030030E
SRPPP 350cm (E/P Collar) HD 17.62 FRPP20035030E ST 100 cm MD 228 ESTN20100
SRPPP 400cm (E/P Collar) HD 19.30 FRPP25040030E ST 150 cm MD 3.42 ESTN20150
SRPPP 450cm (E/P Collar) HD 2142 FRPP25045030E ST 200 cm MD 457 ESTN20200
SRPPP 500cm (E/P Collar) HD 23.09 FRPP30050030E ST 250 cm MD 5.71 ESTN20250
Finish: Painted SRPPP 550cm (E/P Collar) HD 2477 FRPP35055030E ST 300 cm MD 6.85 ESTN20300
SRPPP 600cm (E/P Collar) HD 26.44 FRPP40060030E ST 350 cm MD 7.09 ESTN20350
Single Stabilizer (SS) ST 400 cm MD 913 FSTN20400
SS 48-150 cm Painted 883 FSZS3848P150 ST 450 cm MD 10.27 - FSTN20450
SS 48-200 cm Painted 1071 FSZS3848P200 Finish: Black ST 500 cm MD 1142 FSTN20500
SS 48-250 cm Painted 12.63 FSZS3848P250 Dia.:48.3 mm ST 550 cm MD 1256 FSTN20550
SS 48-300 cm Painted 1472 FSZS3848P300 ST 600 cm MD 1370 FSTN20600
SS 48-350 cm Painted 16.80 FSZS3848P350
SS 48-400 cm Painted 1974  FSZS3848P400
SS 48-150 cm E/P 883 FSZS3848E150
SS 48-200 cm E/P 1071  FSZS3848E200
SS 48-250 cm E/P 1263 FSZS3848E250
SS 48-300 cm E/P 1472  FSZS3848E300 H.D. Tube
SS 48-350 cm E/P 16.80 FSZS3848E350
SS 48-400 cm E/P 19.74  FSZS3848E400 ST100cm HD 3.35  FSTN30100
ST 150 cm HD 5.03 FSTN30150
S8 60-150 cm Painted 10.70 FSZS3860P150 ST 200 cm HD 6.70 FSTN30200
S8 60-200 cm Painted 13.08 FSZS3860P200 ST 250 cm HD 8.38 FSTN30250
S8 60-250 cm Painted 1555 FSZS3860P250 ST 300 cm HD 10.05 FSTN30300
S8 60-300 cm Painted 1819  FSZS3860P300 Finish: Black ST 350 cm HD 11.73 FSTN30350
S8 60-350 cm Painted 20.84 FSZS3860P350 Dia.48.3 mm ST 400 cm HD 13.41 FSTN30400
S8 60-400 cm Painted 24.34  FSZS3860P400 ST 450 cm HD 15.08 FSTN30450
S8 60-450 cm Painted 26.99 FSZS3860P450 ST 500 cm HD 16.76 FSTN30500
S8 60-500 cm Painted 29.64  FSZS3860P500 ST 550 cm HD 18.43 FSTN30550
S8 60-550 cm Painted 32.28 FSZS3860P550 ST 600 cm HD 20.11 FSTN30600
SS 60-600 cm Painted 3493 FSZS3860P600
SS 60-700 cm Painted 4022  FSZS3860P700
SS 60-150 cm E/P 1070  FSZS3860E150
SS 60-200 cm E/P 13.08 Fszs3ssoE200  Scaffold Tube (ST) GI
SS 60-250 cm E/P 1555  FSZS3860E250 m
SS 60-300 cm E/P 1819  FSZS3860E300
S8 60-350 cm E/P 20.84 FSZS3860E350 ST 100 cm MD 228 EFSTG20100
) y S8 60400 cm E/P 24.34  FSZS3860E400 ST 150 cm MD 3.42 ESTG20150
xzx g;gg;z ggz;ggzg ‘ég SS 60-450 cm E/P 26.99 FSZS3860E450 ST 200 ¢cm MD 457 FSTG20200
S8 60-500 cm E/P 2964 FSZS3860E500 ST 250 cm MD 571 ESTG20250
S8 60-550 cm E/P 32.28 FSZS3860E550 ST 300 cm MD 6.85 ESTG20300
S8 60-600 cm E/P 3493 FSZS3860E600 Finish: GI ST 350 cm MD 7.99 FSTG20350
SS 60-700 cm E/P 40.22  FSZS3860E700 Dia.:48.3 mm ST 400 cm MD 913 FSTG20400
Bouble Stabitzers (05) e
DS 48-250 cm Painted 2447  FSZD3848P250 -
! ST 550 cm MD 1256 FSTG20550
DS 48-300 cm Painted 2843  FSZD3848P300 ST 600 om MD 1370 R e
DS 48-350 cm Painted 3051 FSZD3848P350 :
DS 48-400 cm Painted 3537 FSZD3848P400
DS 48-250 cm E/P 2447  FSZD3848E250
DS 48-300 cm E/P 2843  FSZD3848E300 H.D. Tube |
DS 48-350 cm E/P 3051 FSZD3848E350
DS 48-400 cm E/P 3537 FSZD3848E400 ST 100 cm HD 3.35 FSTG30100
ST 150 cm HD 5.03 FSTG30150
DS 60-250 cm Painted 29.25 FSZD3860P250 ST 200 ¢cm HD 6.70 ESTG30200
DS 60-300 cm Painted 34.28 FSZD3860P300 ST 250 cm HD 8.38 ESTG30250
DS 60-350 cm Painted 36.92 FSZD3860P350 ST 300 cm HD 10.05 ESTG30300
DS 60-400 cm Painted 40.42 FSZD3860P400 Finish: G ST 350 cm HD 11.73 ESTG30350
DS 60-450 cm Painted 4553 FSZD3860P450 Dia.:4é?.3 J. ST 400 cm HD 13.41 ESTG30400
DS 60-500 cm Painted 4818 FSZD3860P500 ST 450 cm HD 15.08 ESTG30450
DS 60-550 cm Painted 50.83 FSZD3860P550 ST 500 cm HD 16.76 ESTG30500
DS 60-250 om E/P 2025 FSZD386OE250 T osoem D o
DS 60-300 cm E/P 3428 FSZD3860E300 :
DS 60-350 cm E/P 3692 FSZD3860E350
DS 60-400 cm E/P 4042  FSZD3860E400
DS 60-450 cm E/P 4553  FSZD3860E450
DS 60-500 cm E/P 4818  FSZD3860E500
DS 60-550 cm E/P 5083 FSZD3860E550

10



Wt. (kg) Code Wt. (kg) Code
Bolt, Nut and Washer Tie Rod
Bolt and Nut M12x100 (Half Threaded) 014 XFGGH1210
Bolt and Nut M12x40 (Full Threaded) G8 ~ 0.10  XFGBF12040
Bolt and Nut M16X150 0.33 XFGBF16150
Bolt, Nut & Washer 16X100 mm 020 XFGBF16100
Full Threaded Bolt,  Bolt, Nut & Washer 16X100 mm G10 0.25 XFGBG16100 y
Nut and Washers  Bolt, Nut & Washer 16X40 mm 0.14 XFGBF16040 Pe s"g 8;8 cm g:“t 8'§? iigsgg;g
Bolt, Nut & Washer 14X100 mm 0.15 XFGBF14100 T:: Rgd 095 gm Blzgk 030 IR SaeE
M Bolt, Nut & Washer M12X80 (Carriage) 0.09 XFGBF12080 Dia.: 16 mm Tie Rod 030 om Black 0'47 XEGTRB030
Bolt, Nut & Washer 10X100 (Half Threaded) 0.08 XFGBH10100 Tio Rad 035 om Black 051 R
Half Threaded Boit, Bolt, Nut & Washer 10X75 (Full Threaded) 0.07 XFGBF10075 Tio Rad 040 om Black 002 IR
Nut and Washers ~ Bolt, Nut & Washer 10X30 mm 0.04 XFGBON10030W ! -
Bolt and Nut wio Washer 06x40 mm G 0.01 XFGBONOB40GN Tie Rod 045 om Black 0.70 IR RCIIR BT
Tie Rod 050 cm Black 078  XFGTRBO50
Tie Rod 055 cm Black 085  XFGTRBO55
Tie Rod 060 cm Black 093  XFGTRBO60O
Tie Rod 065 cm Black 1.01 XFGTRBO65
Water Stopper Tie Rod 070 cm Black 109  XFGTRBO70
Tie Rod 075 cm Black 116  XFGTRBO75
_ Water Stopper Gl-Finish 0.56 XFGWSE Tie Rod 080 cm Black 1.24 XFGTRB080O
‘ ‘a\ Water Reducer 009 XWSSPO50 Tie Rod 085 cm Black 132  XFGTRBO85
/’ Tie Rod 090 cm Black 140  XFGTRB0O9O
@/ Tie Rod 095 cm Black 147 XFGTRB095
(@ (@ Tie Rod 100 cm Black 155  XFGTRB100
Tie Rod 105 cm Black 163  XFGTRB105
plastc Reducer Tie Rod 110 cm Black 1.71 XFGTRB110
Tie Rod 115 cm Black 178  XFGTRB115
Plastic Cone Tie Rod 120 cm Black 1.86 XFGTRB120
Tie Rod 125 cm Black 194  XFGTRB125
Tie Rod 130 cm Black 202  XFGTRB130
Plastic Cone 0.01 XFGCONE Tie Rod 135 cm Black 209  XFGTRB135
Tie Rod 140 cm Black 217  XFGTRB140
Tie Rod 145 cm Black 225  XFGTRB145
Tie Rod 150 cm Black 233  XFGTRB150
- Tie Rod 155 cm Black 240  XFGTRB155
Plastic Sleeve 1M Tie Rod 160 cm Black 248  XFGTRB160
Tie Rod 165 cm Black 256  XFGTRB165
Plastic Sleeve 1M 0.15 XFGPSL100 Tie Rod 170 cm Black 264  XFGTRB170
Tie Rod 175 cm Black 271 XFGTRB175
Tie Rod 180 cm Black 279  XFGTRB180
one Hetor nth Tie Rod 185 cm Black 287  XFGTRB185
For the required length use muitiple of one meter T!e Rod 190 cm Black 2.95 XFGTRB190
Tie Rod 195 cm Black 302  XFGTRB195
Counter Plate Tie Rod 200 cm Black 3.10 XFGTRB200
Tie Rod 205 cm Black 318  XFGTRB205
Tie Rod 210 cm Black 326  XFGTRB210
Tie Rod 215 cm Black 333  XFGTRB215
Tie Rod 220 cm Black 3.41 XFGTRB220
/ Counter Plate 90x20x6 mm 0.35 XFGCP60EQ2 Tie Rod 225 cm Black 3.49 XEGTRB225
/ Counter Plate 90x20x8 mm 0.49 XFGCP80EQ2 Tie Rod 230 cm Black 357 XEGTRB230
C Counter Plate 150x150 mm 1.40 XFGCP80E15 Tie Rod 235 cm Black 3.64 XFGTRB235
/ Tie Rod 240 cm Black 372  XFGTRB240
Tie Rod 245 cm Black 380  XFGTRB245
Tie Rod 250 cm Black 388  XFGTRB250
Tie Rod 255 cm Black 395  XFGTRB255
Tie Rod 260 cm Black 403  XFGTRB260
_ Tie Rod 265 cm Black 411 XFGTRB265
Wing Nut Tie Rod 270 cm Black 419 XFGTRB270
Tie Rod 275 cm Black 426  XFGTRB275
Tie Rod 280 cm Black 434  XFGTRB280
Tie Rod 285 cm Black 442  XFGTRB285
Wing Nut E/P 030  XFGWNUTE Tie Rod 290 cm Black 450  XFGTRB290
Tie Rod 295 cm Black 457  XFGTRB295
Tie Rod 300 cm Black 465  XFGTRB300
Tie Rod 310 cm Black 481 XFGTRB310
Tie Rod 320 cm Black 496  XFGTRB320
Tie Rod 330 cm Black 512  XFGTRB330
: Tie Rod 340 cm Black 527  XFGTRB340
Round Wing Nut Tie Rod 350 cm Black 543  XFGTRB350
Tie Rod 360 cm Black 558  XFGTRB360
Tie Rod 370 cm Black 574  XFGTRB370
Tie Rod 380 cm Black 589  XFGTRB380
Tie Rod 390 cm Black 6.05  XFGTRB390
Tie Rod 400 cm Black 620  XFGTRB400
Round Wing Nut (Anchor Nut) 063  XANUT15100 Tie Rod 410 cm Black 636  XFGTRB410
Tie Rod 420 cm Black 6.51 XFGTRB420
Tie Rod 430 cm Black 667  XFGTRB430
Tie Rod 440 cm Black 6.82  XFGTRB440
Tie Rod 450 cm Black 698  XFGTRB450
Finish: Electroplated Tie Rod 460 cm Black 713  XFGTRB460
DIA.: 100 mm Tie Rod 470 cm Black 7.29 XFGTRB470
Tie Rod 480 cm Black 744  XFGTRB480
Tie Rod 490 cm Black 760  XFGTRB490
Tie Rod 500 cm Black 775  XFGTRB500
Tie Rod 510 cm Black 7.91 XFGTRB510
Tie Rod 520 cm Black 806  XFGTRB520
Tie Rod 530 cm Black 822  XFGTRB530
Tie Rod 540 cm Black 837  XFGTRB540
Tie Rod 550 cm Black 853  XFGTRB550
Tie Rod 560 cm Black 868  XFGTRB560
Tie Rod 570 cm Black 884  XFGTRB570
Tie Rod 580 cm Black 899  XFGTRB580
Tie Rod 590 cm Black 915  XFGTRB590
Tie Rod 600 cm Black 930  XFGTRB60O

11



Abu Dhabi | Dubai

T: 49712 5500688 | T: +9714 8862855
F: +9712 5500689 | F: +971 4 8862558
P.O. BOX: 41851, Abu Dhabi, UAE | P.O. BOX: 18324, Jebel Ali, UAE
WWW.SCAFFCO.COM




	Cover
	Walling System Components
	Walling System

